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QUESTION 1

What does IaaS stand for? 

A. IT as a Service 

B. Integration as a Service 

C. Infrastructure as a Service 

D. Information as a Service 

Correct Answer: C 

 

QUESTION 2

An IT associate is working with a video streaming provider. What is a common approach to reduce bandwidth cost while
supporting the same or an increasing number of video streams and customers? 

A. Stop serving the video streams when a certain price limit is reached. 

B. Reduce the bitrate to reduce the size of the video streams. 

C. Serve the video streams only to a limited number of users at a time. 

D. Use a content delivery network to distribute the streams. 

Correct Answer: D 

 

QUESTION 3

What command do you use to view the structure of system directory hierarchies? 

A. tree 

B. fee | ls /etc 

C. ls -t 

D. ls tree 

Correct Answer: A 

 

QUESTION 4

Which of the following best describes the technical term "Elasticity"? 

A. The degree to which a system can adapt to dynamic computing demands 
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B. The degree to which a business accommodates larger loads just by adding resources 

C. The degree to which a system consistently performs according to its specifications 

D. The ability to meet the business\\'s needs through a variety of cloud offerings 

Correct Answer: A 

 

QUESTION 5

Which utility is used to create public and private key pairs for SSH authentication? 

A. adduser 

B. ssh-keyqen 

C. keyqen 

D. ssh 

Correct Answer: B 
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